3 BKEEMERE
(1) BEBF
MR % BB BB IR & ()
AT AT R A mmE | R M
O a=T4EBEVA—
SRRTT S A A G@ET | B2 — 4 EMGH 16,52
B U Emm AR | KRR | NBEE S 125
; M4BT B MM AR | KE4E | IB4—1HmA 17.35
i3 HRIRATEL T AT FA I BT IB5 — 3 WAT 30. 3
. | HExsRER R
o | THEm s AE LHMET | 186 — 3 A 20,8
o | FERIS A HEET | 187 — 2 A 28,92
E BRI S A R EUET | LR 5 — A 15.15
*#%“Q%H%E BFE | B INEREHR 9.6
o E0 S A A B ZFE | 10— 1 LA 9.6
| ammkmaE kB | amma | TR 39.74
7] O a=T 4«4tV E—
B amakmas (cam | e | DR 21.4
E O a=T 4«4tV E—
% | WRFRARH AR . ]
B | ammimer @R | Co | 2ER 19:9
=) L5 13 &Ff 291.78
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(2) REEHM

S i

FR24£4 A1 BR#E

Pk ERMEEREMX A

No. WE = - Ig /N :I: F | £ |2 | & | & a5t
F B K 4: [ T I I B
B | BT | BT | gy | BT | BT | BT | BT | S | AR | R
1 | HAER 9| 10| 10( 10 10| 10| 10| 10| 10| 10 5 104
2 | N\NVETAY 1 1 1 1 1 1 1 1 1 1 10
3 | EERK 1 1 1 1 1 1 1 1 1 1 10
4 | &Stk - =HD 1 1 1 1 1 1 1 1 1 1 10
5 | IVYUhyh— 1 1 1 1 1 1 1 1 1 1 10
6 | FzoU— 1 1 1 1 1 1 1 1 1 1 1 11
1 | "1 o7 1 1 1 1 1 1 1 1 8
8 | HEDY v+ 1 1 1 1 1 1 1 1 8
9 | RavT 8 2 2 2 2 2 2 2 22
10 | #ann—7 1 1 1 1 1 1 1 1 1 1 1 11
11| 8% 1 1 1 1 1 1 1 1 2 2 2 14
12 | BRERE Y b 1 1 1 1 1 1 1 1 1 1 10
13 | & 230 | 230 | 230 | 230 | 270 | 230 | 862 | 230 | 190 | 200 | 100 | 3,002
14| B@EAY b+ 2 2 2 2 2 2 2 2 2 2 2 22
15| s kAL 2 2 2 2 2 2 2 2 2 2| 10 30
16 | A7k 1 1 1 1 1 1 1 1 1 1 10
17| RUBZH 5 5 5 5 5 5 5 5 40
18 | MBITEE Y b 3 3 2 8
19|72k 3 2 2 1
20 | BAKS— K 25| 25| 20 10
21 | EBHBF 1 1 1 3
22 | AR AKEE 20 20
23| V¥Hh— 1 1
24 | N 16| 10| 10 36
25 | ZANTY 3 3 3 9
26 | PABHET 3 2 2 1
27 | 3a—FY—J 1 1 1 3

X ORPOEMFE, 0(E0) ERT,

_93_




KB RERMM —ER

TRk 24 F£4 A1 8RE

BE# EHHKRE EHHKHRE EHTHIKARE
am A (= BHT) (KB) (88iR)
2av S (T) 26 60 79
231k L (T) 8 9
E5n (T) 5 10 50
BN (T) 8
n-EY (T) 3 7
FAROZEY (T) 13
+4 (T) 9
- (T) 10 13 39
fEQDO (T) 6 16 10
R (T) 6 6 18
AHKRY (T) 4 4
NI — (T) 3 12
RyF (T) 7
o) — (T) 5
A () 83 90 90
R (kg) 40 90
iy () 20
i (&) 4 12 45
E-——ino—7 (&) 8
LEn—7F (%) 100m x 4
wHMO—7 (&) 200m x 1
E=—Li— bk () 36 50
tn>5 (%) 5, 200 7,330 6, 000
—iHE (&) 3 3
SAAR - BEHL () 50 406
AR Rt (B) 2
PGl T €)) 5 20 119
BF (M) 50
JLRFR () 64
58— (T) 4
Froy— (B%) 1
B (1) 1
B (88) 1
Ty FIEAY—F 4

X ORPOEFE. 0(ERA)ERT,
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R+t 25— - WETEC IR E MM

ER24%F 4 A1 BIRE

B S AR E IR 4

- Hit - _
No. Ly frEA = 1% I E N T = E =

[ 5 Y 5 i iy 48 =F

BT iy BT A BT ET BT ET g

i)

1| &g 2 2 2 2 2 2 2 2 6 22
2 | T 2 2 2 2 2 2 2 2 6 22
3| KSLa—F 2 2 2 2 2 2 2 2 6 22
4 | REHEITE 2 2 2 2 2 2 2 2 6 22
5 | REtER F—T 3 3 3 3 3 3 3 3 6 33
6 | BEHTERS oA 5 5 5 5 5 5 5 5 15 55
7 | KK Y4h 3 3 3 3 3 3 3 3 9 33

X O RPOERFE. 0(EO)EXRT,
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